RAYATEET EKiE

O kKERERKREEG®
HKERB| $F4E4F118 | HM4ESAE | $M4F6H228 | $M4ETA278 | $M4E8A 158 | SF4FIF268 | SH4E10A178| SF4F 11 A228| $4E12878 | $H5E17258 | $H542A888 | $H5E3A138
wnh | GEATRR | Gaswam | oswsm | owan) | Gisemm | oswew | Goswsw | swewen | ok | ovewem | ses | aseem
BAOKERR oo oo | wom [ W | o om | woom | wom | Wom | Mo | mo® | 2@ | 2om | meoz
KB 22.0°C 28.0°C 28.0°C 34.0°C 32.0°C 27.0°C 19.0°C 18.0°C 10.0°C 40°C 13.0°C 10.0°C
*iE 16.0°C 220°C 230°C 28.0°C 30.0°C 26.0°C 230°C 17.0°C 15.0°C 10.0° 100°C 130°C
— R &/ml 0 0 0 0 0 0 0 0 0 0 0 0
AEE - TR TR T T T T T T T T T T
HEEVLRUZDELEY mg/| 0.00035K i = 0.00035K = 0.00035K = 0.00035K# = 0.00035K# = 0.00035k -
KBRUZDIEEY me/| 0.000055k i = 0.000055K i = 0.000055k i = 0.000055K i = 0.000055K i = 0.000055 i =
TLURUZDIEEY mg/| 0,001k = 0.0015K# = 0,001k = 0.0015K:# = 0.0015K:# = 0.0015K5# -
BRUZFDIEEY mg/I| 0.0012K 5% - 0.0012KiH - 0.0012KiH - 0.001K5H - 0.001K5H - 0.0015K5#% -
ERRUZDIEEY mg/| 0,001k = 0,001k = 0,001k = 0.0015K:# = 0.0013K:# = 0.0015K5# -
ANEIOLERVFDEEY mg/I| 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025K 55 - 0.0025 % -
EHEREER mg/| 0.0045K = 0.0045K = 0.0045K = 0,004 = 0,004 = 0.0045K# -
TUAAF U RBELLTY | me/l 0.0015Ki# = 0.0015Ki# = 0.0015Ki# = 0.001Ki& = 0001Ki& = 0.0015Ki& =
HREERRUERBREER mg/| 046 046 049 042 042 1.08 0.77 0.66 057 059 056 057
TVERRUVEDILED mg/I| 0.06 - 0.05 - 0.06 - 0.06 - 0.05 = 0.055K# -
RORRUVZDIEEY mg/| 0.03 = 0.02 = 003 = 0.03 = 0.03 = 0.02 =
migLER me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
1, 4—SFFHY - 00055k = 0.0055ki% = 00055k = 0.005:ki% = 0.005:ki% = 000553 =
FEONETEISATTLARY | g | 00002k - 000025 % - 000025 % - 000025 % - 000025 % - 000025 3% -
sonniey mg/| 0.00025K# = 0.00025K 5 = 0.00025K 5 = 0.00025K 5% = 0.00025K 5% = 0.00025K -
FhSoAATFLY me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
rJooaIFLY mg/| 0.00025K o 0.00025K = 0.00025K o 0.00025K# o 0.00025K# o 0.00025F -
Roty me/l | 000025k - 0.00025 % - 0.00025 % - 0.00025 % - 0.00025 % - 000025k -
1ERE mg/| 0.065K i o 0.0635K# = 0.08 - 0.065K# o 0.06:K# o 0.065K% -
yOOEE mg/| 000253 - 0,002 - 0,002 - 0,002 - 0.0025 3% - 00025 -
I=1=L VN me/| 0.0091 - 0.0104 - 0.0153 - 0017 - 00094 - 0.0061 -
SoOOEE mg/| 0,005 - 0,002 - 0,009 - 0.002:k% - 0.004 - 0.004 -
SInEH/O04Y me/| 0,002 - 0.002 - 0.0029 - 0.0032 - 00026 - 00013 -
KR mg/| 0.001Ki# = 0.001K5# = 0.001Ki# = 0.001K5# = 0.001K3# = 0.0015K3# =
[N =PE mg/| 00161 - 00179 - 0.0262 - 0029 - 00181 - 0011 -
~ o OOEE mg/| 0004 - 0005 - 0,006 - 0010 - 0.006 - 0003 -
JRESHO04Y mg/| 0.005 - 0.0055 - 0.0078 - 0.0088 - 0.0061 - 00036 -
JnERILL me/l | 000025k - 0.00025 - 0.0002 - 0.00025 % - 0.00025 % - 000025 -
RILLTILTER mg/| 0.0085 i o 0.0085 i = 0.0085 i o 0.0085K i o 0.0085 o 0.0085K# -
BRRUZOEEY mg/| 001K = 001Ki& = 001Ki& = 001KiE = 001KiE = 001K =
TIEZILRUEDIEED mg/| 0.08 = 0.03 = 0.05 = 0.05 = 0.03 = 0.02 =
HBRUZOILEY mg/| 003K 003K 0035k 0.03%i% 0.03%i% 0.03ki% 0.03%i% 0.03ki% 0.03%i% 00353 00353 0035
FARUVZDLEEY mg/| 001K o 001K = 001K o 0.01Ki& o 0.01Ki& o 001K -
FRIDLRUZDIEEY mg/| 65 = 52 = 6.7 = 77 = 63 = 48 -
RUAVRUZDIEEY mg/| 0,001k o 0,001k = 0,001k o 0,001k o 0,001k o 0.0015K3# -
b= 47 R me/I 8.7 9.1 9.3 104 102 179 100 9.1 8.7 7.2 75 103
<5 ;’: I:;/Z%é\(ﬁ ) me/l 453 - 350 - 22 - 465 - 470 - 370 -
EREEEY mg/| 93 = 98 = 93 = 91 = 85 = 97 -
BEA 74 REEEH me/I 0025k = 0.025 i = 0.025 i = 002K = 002K = 002K =
JIARIY mg/| 0.000001 - 0.000002 - 0.000003 - 0.000006 - 0.00000153% = 0.000001 5% =
2= AFILAVYRILRA—IL mg/| 0.000001 - 0.000007 - 0.000003 - 0.000001 - 0.000001 3K - 0.000002 -
FAAYREEMF mg/| 0.0025K i = 0.0025Ki# = 0.0025Ki# - 0.002:K - 0.002:K = 0,002k -
Jr/—ILEE me/I 0.00055K 35 - 0.00055% % - 0.00055% %5 - 0.00055% % - 0.00055% % - 0.00055k % -
HEMEE#RRETOCOHR) mg/| 07 05 05 05 0.6 13 06 04 05 04 04 06
pHIE - 7.66 7.31 7122 7127 713 717 740 753 745 741 743 7.51
Bk - BELL BELL BELGL BELGL BELGL BELGL BELGL BELGL BELGL BELGL BELL BELGL
L - REEGL REEGL BELL BELL BELL BELL BELL BELL BELL BELL BELL BELL
'E -4 iES] iES] IS} IS} IS} IES] IES] IES] iES] iES] iES] iES]
AE -3 015K 015K 015K 015K [RE S 01K [RE ST [RE ST 0.1k 0.1k 0.1k 0.1k
BBIER mg/| 06 0.40 042 045 042 0.20 032 046 045 0.49 050 0.44




